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[DeploymentItem(“TestData™, "A8 TestData™)]
[TestClass()]
public class GradedTests
{
[TestMethod(}, Timeout(28€8)]
public veoid SolveTest QlEvaquating()
{
Assert.Inconclusive("A8.Q1 Not Solved™);
RunTest({new QlEvaquating("TD1"));

}

[TestMethod(), Timeout(268€)]

public void SolveTest Q2Airlines()

{
Assert.Inconclusive("A8.02 Not Solved™);
RunTest(new Q24irlines("TD2™));

}

[TestMethod(), Timeout(268€)]

public void SolveTest (Q3Stocks()

{
Assert.Inconclusive("A8.03 Not Solved™);
RunTest(new Q35tocks("TD3"));



Evacuating People
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public class QlEvaquating : Processor

{
public QlEvaquating(string testDataName) : base(testDataName)
{
//this.ExcludeTestCaseRangeInclusive(1, 1); // Uncomment if you need to exclude any testﬂ
}
public override string Process(string inStr) =»
TestTools.Process(inStr, (Func<long, long, long[][], long»)Soclve};
public virtual long Solve(long nodeCount, long edgeCount, long[][] edges)
{
return @;
}
b



Assigning Airline Crews to Flights ¥
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public class Q2Airlines : Processor

{

public Q2Airlines(string testDataNams) : base(testDataName)

{
¥

public override string Process(string inStr) =»
TestTools.Process(inStr, (Func<long, long, long[][], long[]»)Solve);

public virtual long[] Solve{long flightCount, long crewCount, long[][] info}

{
return new long[] { @ };

}



Stocks Charts Y
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public class Q3Stocks : Processor

{
public Q35tocks(string testDataMame) : base(testDataName)

{1

public override string Process(string inStr) =»
TestTools.Process(inStr, (Func<long, long, long[][], long>)Solve);

public virtual long Solve(long stockCount, long pointCount, long[][] matrix)
{

return 8;

}
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